KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS PRT 25 FEB SH1
Exam Date & Time 25-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT25FEBSH1
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) a writer should have

(b) a clear mind

(¢) and a good command of the language

(d) to write lucid prose

(1 (b) @) (©), (d)
(2 (b), (), (d), (a)
(3) (o), (d) @), (b)
(4) (d), (a), (b), (c)
Options:-

=1, Option ID :- 1,

= 2, Option ID :- 2,

=« 3, Option ID :- 3,

= 4, Option ID :- 4,

Answer Given:- 4, Option ID : -4
Question ID:- 2

Change the following senterv e from Active Voi e to Passive Voice.
He takes dinner at 8 p.m. everyday.

(1) Dinner is taken by him at 8 p.m. everyday.

(2) Everyday at 8 p.m. dinner was taken by him.

(3) At 8 p.m. everyday dinner was taken by him.

(4) Dinner is being taken by him at 8 p.m. everyday.

Options:-

«1, Option ID :- 5,

= 2, Option ID :- 6,

= 3, Option ID :- 7,

= 4, Option ID :- 8,

Answer Given:- 1, Option ID : -5

Question ID:- 3



Fill in the blank with the correct preposition.

[ am indebted you for all the help you have given me.
(I) with

(2) towards

(3) to

(4) in
Options:-

=1, Option ID :- 9,
= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

They have been living in Amritsar sin e independence.

(1)  Present Indefinite

(2) Present Continuous

(3) Present Perfect

(4) Present Perfect Centinuous
Options:-

=1, Option ID :- 13,

= 2, Option ID :- 14,

= 3, Option ID :- 15,

= 4, Option ID :- 16,

Answer Given:- 4, Option ID : -16
Question ID:- 5

Change the following sentence from Direct Speech inte Indirect Speech.
The traveller said to me, ‘Which road leads to the nearest inn ?

(1) The traveller asked me which road led to the neare. t inn ?

(2) The traveller asked me which road led to the nearest inn,

(3) The traveller asked me that whi h road led to the nearest inn.

(4) The traveller asked me which road is leading to the nearest inn.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,



= 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

Identify the part which contains the error.
English / as well as French / was taught / on the college.

(1) ) (3) (4)

Options:-

=1, Option ID :- 21,

= 2, Option ID :- 22,

= 3, Option ID :- 23,

« 4, Option ID :- 24,

Answer Given:- 4, Option ID : -24
Question ID:- 7

Choose the word nearest in meaning to the given word.
APPLAUD

(1) exaggerate

(2) criticise

(3) praise

(4)  worship

Options:-

=1, Option ID :- 25,

= 2, Option ID :- 26,

= 3, Option ID :- 27,

= 4, Option ID :- 28,

Answer Given:- 3, Option ID : -27
Question ID:- 8

Choose the word opposite in meaning to the given word.
DESTITUTE

(1) powerful

(2) affluent

() extravagant

(4) generous

Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
=« 3, Option ID :- 31,
« 4, Option ID :- 32,
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Answer Given:- 2, Option ID : -30

Question ID:- 9

Identify the part of speech of the underlined word.

Smoking is a bad habit and ought to be avoided.

(1) Pronoun

(2) Noun

(3) Adjective

(4) Interjection
Options:-

=1, Option ID :- 33,

= 2, Option ID :- 34,

= 3, Option ID :- 35,

= 4, Option ID :- 36,

Answer Given:- 2, Option ID : -34
Question ID:- 10

Identify the clause of the underlined part in the given sentence.

The sun which shines all day goes to rest in the evening.

(1) Noun Clause

(2) Adverb Clause
(3) Adjective Clause
(4) Principal Clause
Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PRT25FEBSH1

Question ID:- 11
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Fefafaa wes it sargds ugwe 3aaT wfia wos & 3w dfan

T 1 7% © o fagma orardta & Feram &7 51 3, foae 3rwg |va grdl o1 @1 § 1 HER &% Yors 99
H 3g% W agd o W1 A7 syaf=ril 7 o g &1 vk T9ds a1 fewn @) s pw @A H Wl
g =) fGhH o Hehd €1 &9 Hie QX I3 3T A 3997 & & dchldl o L Hahd & 391 3y asAls
A T B W o G gU 39 AT w1 77 ot @ Hahd §1 qee 39 e 9 gl € o aeRi Wia 1 )
WA qe S@-FA Fehd & | Afg hifAgra 1 A1’ 3T % g0 H et 37 Bw @ Gy A& st ger |

(1) 4= @hR HW S

(2) H AW &

(3) ARA F fem Fed #
(4) T H YER HEd §

Options:-

=1, Option ID :- 41,

= 2, Option ID :- 42,

= 3, Option ID :- 43,

= 4, Option ID :- 44,

Answer Given:- 3, Option ID : -43

Question ID:- 12

Frefafaa Teier @l IRgE® gt SHUT AMiRA U9 &1 W ST |

A RiwfEAaaddsm | 9 g e o Ya €9 & S W@ ¥ §6R % e 9
T 3G T e N W E ) S At | 3 g 1 FoF ASa)S o /AT | TWFV E S H 9l
g1 ! afRAl FUHEFA © 1 &5 Hiel gL SIS 1T | 397 2ld & deshicd Jid i Hahd & 3R YA deheilsh
® A TH W 9 Fd gU 3F A F1 99 off @ Hea €1 3k 3 &mar 9 g € R gl oa g
AN ey TE-GA Fehd § ) AT e w1 ey’ o 6 g H e ol 39 59 4 9w 76 fusan gear)

g waF A98% fha® gy @ 31 P § 2

(1) =33
2) g=HF FA
3) dFf Iqafem

(
(
(4) =afFTd 9=
Options:-

»1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,
= 4, Option ID :- 48,
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Answer Given:- 3, Option ID : -47

Question ID:- 13

frfefaa ey &t sargde ggat I rafa weR ot 3w difaw

9 W T ¢ 1 faam srardia o Faum 1 g1 %, 998 31579 G913 31 51 @1 81 §8R & el &
T 3 W d3d N @WE | A7 Iy A o g ) gek AsdE o few %) w9 Fw i H W
gfa =1 afhe #R Tahd € | TR Hid g a3 o 9 3901 20 ) aehie 91 S gohd & iR syfes asm s
A BF R I H g 3T oIfad w1 FaF o d@ wahd €1 IR 39 gEa A guf § T g e g )
HAT qeayvl - Thdl § | AR s 1 Tar’ A F g W S A 39 A F HIw A foreiar v

fFeh oo | &5 9 Hid X 1 HeAN qealvl S@-YA ehd & ?

(1) e

(2) e

(3) EHERTHA

(4) A
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,
= 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

“fug =1 faen T &' a1 W @ifed e | R R

() d

(2) =W

(3) HugH

4) Afg=mm
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,
= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15
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T % MU T FHTH 5 I |
(1) &T - Gl

(2) A - IRt
(3 TEF - TS
(4) Tomn@m - famreai

Options:-

=1, Option ID :- 57,

= 2, Option ID :- 58,

= 3, Option ID :- 59,

= 4, Option ID :- 60,

Answer Given:- 2, Option ID : -58

Question ID:- 16

‘o’ gree 1 yATETE e T8

(1) Hafafy

(2 wEH

(3) HvE

(4) Hya
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,
= 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

frafafaa fadiaet sk-gi 4§ 35 ©
(1) d - Hg

(2)

(3) freid - =
(4)

Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,
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= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

fef o 3mum W ST we-g ©
(1) ¥R - |l

(2) fHz - [Hfel

(3) Qe - QEH]
(4)

2

4)  FAHAUSH - AR

Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

‘S He 9€ 91’ dAiahifaa 1 w2 2w §
(1) ®ie =Hfed g €I o1 el
(2
(

) @S Wd i A1 HeAl

3) oAl 2faTd F de od HEAl
(4) g ae 99 Hed
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20
"TraTSt W I 1 ®' 9 o @ifehd 339 H 9eAm €
1) AFs=EagaEs

(

(2) fe=gFaEs
(3) I¥dEH
(4) qEvarE®

Options:-
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=1, OptionID :- 77,
= 2, Option ID :- 78,
= 3, OptionID :- 79,

= 4, Option ID :- 80,
Answer Given:- 1, OptionID : -77

Subject : GA_Q21-Q30_PRT25FEBSH1

Question ID:- 21

Which of the following is a Directive Principle of State Policy under the Indian Constiution ?
(1) Promotion of international peace

(2)
(3) Development of the scientific temper
(4) Respe ting the National Anthem

Abjuring of violence

W o HTUH & Hqd &4 & Afd-Fdees el | FA=fafad 5 9 sH i 8 2
(1) siatrsia wifd =l sz <

(2) f&w = wvy g @A

(3) dFFw @waE # oy
(4) T BT HHHF HAl
Options:-

«1, Option ID :- 81,

= 2, Option ID :- 82,

= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, OptionID : -83

Question ID:- 22

Which of the following states in India has the lowest total Fertility Rate (Children per women)
a cording to the National Family Health Survey 2019-21 ?

(1)  Sikkim

(2) West Bengal
(3) Goa

(4) Kerala
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UL qfER @Re FEAm 2019-21 % 3{ER, R4 & FHfafed 4 4 f6v o3 &1 3 3903 R (wfa
ofgen 9=) FIA HH B ?

(1) fafFny

(2) 49fe=ER s

(3)

(4) H
Options:-

=1, Option ID :- 85,

= 2, Option ID :- 86,

= 3, Option ID :- 87,

= 4, Option ID :- 88,

Answer Given:- 1, Option ID : -85
Question ID:- 23

What is Reichstag ?

(1)  The place where the treaty of Versailles was signed
(2) The German Parliament

(3) The Nazi concentration camp

(4) Office of German Armed Forces Head uarters
‘uETEEA Y ?

(1) % ¥4 551 9819 i 9 W gxaer fBhe 77 o

(2) SHA T HEG

(3) Arsit AsEE) farfax

(4) SHA & TIEA gl S R
Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,
= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24
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What is the ‘slash and burn” method of cultvation called ?

(D

(2)
(3)
(4)

Jhum cultivation
Jaalo culBivation
Kiwad ultivation
Cropping cultivation

gdt & ‘e 3R SaAr fafy @ seend & ?

(1) g Ed
(2) SE @t
(3) Tewars wdl
(4 T Ed
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

Consider the following statements regarding the ‘Bharat Ratna” and identity the incorrect

statement :

(1) There is no restriction on the number of annual awards in a particular ear

(2) The recommendation for the wards is made by the Prime Minister himself to the President
(3) The award does not carry any monetary grant

(4) Onconfermentofth award, the receipientrecieves a sanad (cerificate) signed by the President

and medallion

‘g T 6 91 H fAEfafad seE T faar $ifeu iR em S F ggmE #ifse

(1) U o § arfifen gm[ =) Fen ® #1 gfasy 338 2

2) M &I AR gaEEs gr =E Ugdfd A6 8

(3) wEA H wE yFafw A€ < St §)

(4) HHE YA I W, Wraskdt T2ufd §R ST UG8 (TRV-H ) 3 T ek WK il ¢
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
= 3, Option ID :- 99,
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= 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which state won the Indian Olympic Associaion’s Best State Trophy in the National games held in
Gujarat in 2022 ?

(1) Karnataka
(2) Uttar Pradesh
(3) Haryana
(4) Maharashtra

4 2022 H T4 W U AR el § YRAE A|fEs 69 H g9 T A% fHE 1 A S 2

(1) wAfes
(2) IW YA
(3) gfamm
(4) HENR
Options:-

=1, Option ID :- 101,

= 2, Option ID :- 102,

= 3, Option ID :- 103,

= 4, Option ID :- 104,

Answer Given:- 3, Option ID : -103
Question ID:- 27

Which book\Title was awarded the Sahiya Akademi Bal Sahitya Puraskar 2022 in Sanskrit?
(1) Balgeetgunjanam
(2) Bubhukshitah Kakah
(3) Sachitram Prahelikasatkam
(Abhinavsanskrit Prahelikah)
(4) Prodanam

T@ra § Aifec s1aed) 9 aifed YRR, 2022 fha Qe sites &1 yeE e 7 ?
(1) srcATiid [s4

(2) SYfRId F1HE

(3) WREFm wEdiwEERy (sfhTadssa gfaw)

(4) UEr™
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Options:-

=1, Option ID :- 105,

= 2, Option ID :- 106,

= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107
Question ID:- 28

Consider the following statements regarding Kisan Rail Scheme and idenity the incorrect
statement :

(1) The first Kisan Rail was flagged off frem Sangola (Maharashtra) to Shalimar (West Bengal)
(2) These trains are multi- commodity, multi-consignor/consignee services

(3) These trains are used for transportation of perishable agriculture/horticulture products
(

4)  The routes for Kisan Rails are decided on demand received from farmers and other stakeholders

fom @ 991 % AR o Fefafad :2E w faer $if§e 3R | seF S 9geH sifa

(1) veeh fFgm @ &1 del (FeIR) 9 AedsR (4= @me) & fon semn @0 on

(2) 33 ag-fodi, ag-s@aadifed 9 )

(3) ¥ @ famd Hfwamad el wi gars & fae g4 § oE S e

(4) ToamM @ & At & ol fRamT dun o feaarahl € 9rd | % 3MR W fohan e @)

Options:-

=1, Option ID :- 109,

= 2, Option ID :- 110,

« 3, Option ID :- 111,

= 4, Option ID :- 112,

Answer Given:- 4, Option ID : -112
Question ID:- 29

Which of the following type of soil/(s) tend/(s) to be light, weill aerated and dry ?
(1) Sandy soil

(2) Clayey soil

(3) Loamy soil

(4) Boh clayey and Loamy soil
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form waR = el soh), oT=sl o & arfod oi gk St €2

(1) et fqed

(2) Ta=at f5ed

(3) T fagd

(4) fa= 3R gwd) <Al T8 &1 fefert
Options:-

=1, Option ID :- 113,

= 2, Option ID :- 114,

= 3, Option ID :- 115,

= 4, Option ID :- 116,

Answer Given:- 4, Option ID : -116
Question ID:- 30

Which of the following statemenit(s) is/are correct about the vegetable-carrot ?
(A) Fibrous root

(B) Tap root

(C) Aerial root

(D) Storage root

Choose the correct answer from the codes below :

(1) (A) and (D) are correct

(2) (B) and (D) are correct

(3) (C) and (D) are correct

(4) Only (D) is correct

TSR oot & A H fFAeff@a T 3 R e e a8 2
(A) WRR &<

(B) gEIRR (W) &g

(C) =ma (TREFA) g

(D) HUEU (WLS) g

19 feu 7w Hef § 4 T S 94
(1) (A) iR (D) ¥E &

(2) (B) 3R (D) W& ¥

3 (O’ (D)= &

(4) ad (D) ¥ &
Options:-

=1, Option ID :- 117,
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= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 2, OptionID: -118

Subject : RA _Q31-Q35_PRT25FEBSH1
Question ID:- 31

How many even numbers are there in the following number sequenv e which are preceded and
succeeded by odd number ?

12727 21423142233141

W U,

)
(2)
(3)
(4)

N W=

faafafad e %9 9 0E fedd 99 = € 999y 3R 9 § fauy g@n 3 82
123321423142233141

m 5
2y 3
(3) 4
4 2
Options:-

=1, Option ID :- 121,

« 2, Option ID :- 122,

= 3, Option ID :- 123,

= 4, Option ID :- 124,

Answer Given:- 2, OptionID : -122
Question ID:- 32

Rehit walks 50 metres North, then turns right and walks 30 metres, then again turns right and
walks 15 metres. He then again turns right and walks 70 metres. Finally, he turns left and walks
60 metres. In which direction is he from his starting position ?

(1) North - East
(2) North - West
(3) South - East
(4) South - West
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Tfed I fewn d 50 A =ad § R =8 Sl 3iR gt 0 HieX 9@ € o fR <l o geat 15 Hi
TJod &1 T8 IA: T IR A € 3R 70 HieX Iadi §1 37 H, 9% 9wl S qHH 60 W TEd1 ¢ | 9% A
arRfis v A frg faen 9 2

(1) IW-gd

(2) I - ufv=m

(3) - gd

(4) < - yfeem
Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,
= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

P,Q,R S T, U, Vand W are sitling in a line facing North not necessarily in the same order.

‘W’ is on the immediate right of ‘S" . ‘Q’ is on the immediate left of “T". There are three persons
between ‘Q" and ‘W’. ‘P’ is adjacent to “U’. “V'i sec nd to the left of “W’. ‘P’ and ‘Q’ are not at the
ends. ‘R’ is on the immediate right of “U’. Who is at the left end of the line ?

(1) ‘W

@ v
® U
4 T

P,Q R,S T, U, V3R WITH 3R g s Th ifad § 4 & fhg d s w9 d 7 a2 T

W’ S’ % THH QT AR B QT % UHhgH &1 AR 1 Q 3IRW & &l o oAfed & €1 P, U
* fSepa e 81 v W S TRff SR WA W8 ) P 3i'Q FHI BRRAGF a4 81 R, ‘U *
TeheH SRl R &1 |

U & ST 3R 3d H A He1 8 ?
1) W
(2) V
3 U
4) T
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,
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= 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statemen® numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q:

I:
IT:

In a certain code language, ‘they are honest’ is written as ‘ra de si’ . What is the code for
‘are’ ?

In the same code language , ‘you are lucky’ is written as “si na to'.
In the same code language, ‘roses are red’ is written as ‘mo si lu’.

The statement I alone is suffi ient to answer the question while statement II alone is not
sufficient.

The statement II alone is sufficient to answer the question while s atement I alone is not
sufficient.

Either statement [ r statement II alone are sufficient to answer the question.
Both statements I and II together are necessary to answer the question.

1< w weA fean wn 2 foaes 9 S swed 1 R 11 fau o § f990 ucies O 38 SHsid 1 718§ ey fufa
HIFSE & S /A FF T99 Al 3T 4 & o g3ia &7

T: Th R ‘lTTfﬂﬁ‘they are honest’ &7 ‘ra de si’ % &4 3 fam@ S ¥ ‘are’ % U 1 2 B ?
HRATL :  IH FHT 99 H, ‘youarelucky’iﬁ’sinat’%@ﬁfﬁ@f%%l
HY [1: IH HZ I H ‘roses are ed H1“ mo si lu’ % &9 § foren Sar

(1) A 1 3Tehel T 1 SR oA o A0 W3 & Fafh ed 11 31ehel 939 A )
(2) A 11 3fhel ¥ 1 3T < = AU v & 9 e 1 31ehed 7379 1 T
(3) R [ 3Ayal HYA [[ ehel H¥H A S| < o forg v §)

(4) w¥A 1 3R e 11 ST fast w93 1 SR <A & T yawgsh £ |

Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
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In the venn diagram given below, circle ‘P’ represents educated, circle ‘Q’ represents rural, circle
‘R’ represents hard working and circle ‘S’ represents tactful persons.

Q

16
12 13

14
11

17

S

How many urban persons are there who are educated and tactful but not hard working ?
(1) 13

(2) 14
3) 15
4) 11

= feu T 39 st H, g9 P Rifadl 6, 99 QUi 1, 99 ‘R’ HEd! 1 SR F9 ‘S FEaR-F
st =1 giaffue F €1

Q

16
12 13

P( 18 5(8 )7 15 R
14

11
17

S

T fore wredl =afe € < forfera oiR semm-gme & fog et e €2
(1) 13

2 14
3) 15
4) 11
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Options:-

=1, Option ID :- 137,

= 2, Option ID :- 138,

= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT25FEBSH1
Question ID:- 36

Garvita Sahay is planning to buy a new smart phone, which one of the following aspects should
she not be bothered about ?

(1) Internal Memory
(2)
(3) Operating System
(4) Ethernet Port

Camera Pixels

e R T T T T A o A 1w P 6 4 o weeq 5 AR e 7 A
=i ?

(1) SeTa HArd

(2) U foeme

(3) AT faeq

(4) 3T U
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
on a PC/ a laptop ?

(1) USB

) PS2

) HDMI
) VGA

2
3

(
(
(4
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forddt dt Hi/etuely W BR-Fafee] sifed-aifedl sii3eye &l Fra HT o foru Haifers 9 Ui A 9
g7

(1) ¥4 7TE s (USB)

(2) O TH 2 (PS2)

(3) U™ Sl uH 2 (HDMI)
(4) S T (VGA)

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is an Antivirus Software ?
(1) Acrobat Reader

(2) MS Paint
(3) MySQL
(4) Quickheal

Frfafad § &, HF ¥ Tk UEERRE S € 2

(1) Wehrere {et
(2) THTHUE
(3) WE TH ¥ TA (MySQL)
(4) oo &t
Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39
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is the file extension of an Excel file ?

(1) xelx

(2) xlsx

(3) xd

(4) excel

fordll wee HEe & HEd fasmr 2

(1) xelx

(2) xlsx

(3) xc

(4) excel

Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following is not an example of RDBMS ?
(1) MS Word

(2) MS SQL Server
(3) MySQL
(4) IBM DB2

frafafed | | &0 o) 2 & 10 T (RDBMS) &1 U 2R T2 @ 7
(1) MS Word

(2) MS SQL Server

(3) MySQL

(4) IBM DB2
Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT25FEBSH1
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Question ID:- 41

Which of the following statements is correct ?

(1) Development refers to quantitative changes.

(2) Growth is a life long process.
(3) Development is a continuous process.
(4) Growth and Development go hand in hand.

freifera § 9 #FA-91 99 98 &2
(1) T =1 aeed AT uiEdT 3§

(2) dfg Sfar v w1

(3) Toepm Wk seRa UlEH 2

(4) afg iR foshre ST W T 2 2 |
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

In Cephalo - Caudal sequence the development of human beings happens from :

(1) Toe to head
(2) Head to toe
(3) Centre to Outside
(4) Outside to Centre

Tathel w1ea o &9 o Ara = fasm 2 &

(1) W& 3 9 fmas
(2) e & W& oS 9
(3) = W WA TH

(4) TEF &F W hg a6
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,
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= 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

Which one of the following is not a principle of growth and development ?
(1) Principle of Individual differences

(2) Principle of Developmental direction.

(3) Principle of Unpredictability.
(4)

4)  Principle of Integration.

=it 5 9 @ gfs iR fawrg =1 fasia T@ & ?
(1) =afieawss i =1 fagia

(2) TR e =1 fagid

(3) STAgHI 1 fagi

(4) Uk w fgia
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Identify the correct statement :
(1) Day dreaming helps adolescents to develop some aspirations in life.
D Day d:eaming is unpleasant and anxiety arousing,

2

(2)
(3) Day dreaming can disturb mental equilibrium.
(4)

4 Day dreaming is necessary for becoming big.

uﬁmaqaﬁﬁ%aaﬁm:

(1) feon @ 4 freviraa-ant &t Sieq 1 $2 sisnsti 1 fawfaa w3 o gema faerdt §)
(2) fean @ g:@E AR g Scoe & Ja A R |

(3) fean = & amfas g e & T €

(4) =gl T % o e = SEm sravae B )

Options:-
=1, Option ID :- 173,
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= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Which of the following statement is incorrect ?
(1) Concept formation is resultant of sensation and perception.
Language acquisition helps concept formation.

(2)
(3) Concept formation is independent of environmental stimulations.
(4)

Direct experience and examples help concept formation.

freaifera § 9 9 W %Y TTed € 7

(1) Heheqa fafo HegAsier ST FeIeqor i i 8|

(2) AT TS | HehedA1 FETo § werr fHerd g

(3) Herewl ffo waiEwiE ST | Frfsd g

(4) TeHeT STV TR SOl § HehedAr fmtor § werwen fer

2

Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

Children grow in self reliance, independence and selfgovernance during the age group :
(1) From 5 to 8 years

(2) From9 to 11 years

(3) From 12 to 14 years

(4) After 14 years

fr=ifera & 9 form o ol & araenl # e Fofan, w=dsmn @i w-we 1 ve fasfaq 2 § 2

(1) 53944 8 99 d% =i 37 H
(2) 999 ¥ 11 94 a5 & g H
(3) 12739 H 14 94 % I 3 H
(4) 1499 T Y & GLAT
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Options:-

=1, Option ID :- 181,

= 2, Option ID :- 182,

« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47

According to Kohlberg’s classification regarding development of moral values, conventional morality
level refers to the age group :

(1) 4 to 10 years

(2) 10 to 13 years

(3) 13 years to later adulthood
(4) Proper adulthood

s

Afaer gl o fash o ai H hierer] eh a0 o STHN WA Afdehdl w2 feifeg § § fofy ag-a1
Y eifed &2

(1) 499 H 1094

(2) 1099 H 13 949
(3) 13 % ¥ TEEd! Hieresdl ah
(4) T YigEE

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

Which one is not a method for training of emotions ?
(1) Repression

(2)

(3) Secretiveness
(4)

Industriousness

Redirection and Sublimation
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Freiferd & | = Haml w1 wfurferd = =6 farfer =21 82

(1) <o

(2) Ifee

(3) T

(4) TSR SR S
Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Which one of the following may not be considered as a characteristic of a socialized person ?
He/She -

(1) Mixes up with person and makes friends.

(2) Possesses limited social interests and focuses on them.
(3) Is not self centred.
(4) Possesses sentiment of self regard.

Treifera & & ford wwSiishe =afe =1 T T2 A1 S Heha & 2

=8 qE/HfEd

(1) R % 91 Hel-Siel SgreRt Sk 1Y fase & sa/si € 1

(2) ¥ Hifaa gmnforr wf=ar @ € oft 37w wm Sfg o s €1
(3) I higd el eraverd ¢ |

(4) T TEF Y qTE TEHVTE |

Options:-

«1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50




3/7/23, 2:47 AM Response Sheet

Homeschooling is recognized by which agency ?
(1) State Board of Education

(2) Central Board of Secondary Education
(3) ICSE

(4) NIOS

Te W feremea @t wifa fowemn (@ wgfem =1 Feifed § 3 g w5 ae € § 2

(1) T faanae

(2) e At e e

(3) SR HI THE

(4) W gad et Hegm (o eng o )
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

Which of the following statements is correct ?

(1) One may not possess high intelligence without having creative abilities.

(2) Adequate level of intelligence is not a necessary condition for being creative.
(3) Divergent thinking forms the basis of creativity.
(4)

4) A mentally retarded person can also be expected to be creative.

freifera & | %9 1 e T 7 2

(1)  gorTas Framed % fa frdt =afm § 5= gfgga 7t € g 3
(2) Ffg 1 TaTE W YeRiE 8 & g stEwrs o T8 o

(3) Sfass fHaq geaarasar & enur & Fmfor w5 # |

(4) wFfaE Y F forfed safe | off gommial 89 1 o138 1 St €1

2

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,
= 4, Option ID :- 204,
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Answer Given:- 4, Option ID : -204

Question ID:- 52

The statement that “The adolescents are rebellious by nature’, is regarded by experts as :
(1) a mis conception.

(2) a necessary character at that age.
(3) an effect of the enviroment.
(4) an objective description of this stage of development.

I8 oA o ¢ forin wvme © fagidl e €, 38 fosivg =20 wrd & 2
(1) e STEHRon

(2) 3H MY ° AEvEE YFfd

(3) W T Y

(4) Tom #1539 wEe w1 s fHe
Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

The school through its programmes helps students to :
(1) assimilate culture.

(2) protest culture.

(3) make them cultured

(4)

4 ignore other cultures

Tererer™ =797 =rdsRHi o " 9 faganfal #1 werd e
(1) HERd &l AHER L H

(2) HERfa @ faty & |

(3) 3% GHH o H

(4) =1 GERfal = U A H
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
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=« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

Primarily Schools, as agent of society should focus on :

(1) Maintaining social norms.

(2) Providing students understanding of the environment.
(3) Developing vocational competence.
(4) Preparing children for social life.

THTS| o SAfveRdl o 9 H Wafhe fagael @i feifea § § fFe © om #fea w5 =fey ?
(1) =S gfaEEi & SRe 1

(2) ool =1 wEld ot THE UEH I W
(3) eAmEEE e foeRfea # W

(4) STeTeRi I QIS S & foll T9R & |/
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

Hari is a child who has begun to use symbols to represent objects but has difficulty with past and
future and can think logically in one direction. He is at which stage of cognitive development
given by Piaget ?

(1) Sensory motor

(2) Pre operational

(3) Concrete operational

(4) Formal operational
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B AT S e aEqH] il [EU 0 & AU Hehdi 1 990 T gE fhma € fohg S8 a3
faes 1 gHzH § HieE 2 W 8 it ag difther gfie § we fewn & = Tehen & 141 oo & W o a8 oeish
HFTH faehrd o fore =wo | 2 7

(1) Hadl U

(2) YA kAT

(3) W HiERATHE

(4) sfenfe dimars

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT25FEBSH1
Question ID:- 56

Which one is the main limitation of subject centred approach to curriculum development ?
(1) Knowledge is considered as divided into subjects.

(2) Omits the importance of learner’s experiences.

(3) Subjects are generally taught in isolation.
(4)

4) Course contents are segregated classwise in a hierarchical manner.

=Rt i foe Shfea sanm &t Frefatad § & S 9w 9o 9 e ?
(1) 3 ! fowi § =iet g3 9 1 i & |

) IE AfrTediel % Syl % e #l SIS S 8 |

) T foua gus w9 9 yen SN 2|

) i - ) HE FaR T ¥ wa-ar et # e sien ¥

)
3

(
(
(4
Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57
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While giving feedback to students, teacher is doing like this :

She/He is praising before telling about errors ; suggesting corrective measures about these errors.
What kind of assessment she/he is adopting ?

(1) Assessment as learning

(2) Assessment of learning
(3) Assessment for learning
(4) Summative assessment

TET ) HISSF T TUT; SIS T T &

g AT S H Teel JEE HE § SR 3 Tt o o § GHRIeTs S 6 g9 ol €
9% foF9 YR % 3ATheT o] ST9A1 W1 8 ?

(1) ftrm™ &% ®9 § e

(2) AferT = SEREE

(3) AT % faw smReE

(4) ANTCHE 3o

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which one of the following may be considered as a limitation of “Competency based approach’ ?
(1) Children learn as per their pace of learning.

(2) The learning climates in all schools are not conducive for optimizing learning.

(3) Immediate feedback is provided.
(4)

4 Mastery learning is the goal.

Freaferfiad § @ frd ‘g seifd Sarm’ &1 Teh ST 5 ST gl § 2

(1) &= 9T siferm ifa o e1aR died 2

(2) Tl foemerdl | siferm e gam ftrm ¥ fau g TE i g
(3) T Thiga fedm S ¥ |

(

4)  siftpmm § getoran o e B T

Options:-




3/7/23, 2:47 AM Response Sheet

=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which of the fo]]owing is not correct about experiential learning ?
(1) Learning is a holistic process.

(2) Learning lies in the product.

(3) Learning is a continuous process.
(4) Teacher acts as a facilitator.
ST T % 9N H 9 T TR © 2

(1) ferm ek UereTETe) 9fE B

(2) siferm Feared H ffed B

(3) aferm wF T s # |

(4) EA9H UH GlaE-gamr & Y g

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

What is the best way to handle a wrong response of a student ?

(1) Explaining the subject matter in detail once again

(2) Telling students that his/her answer is wrong

(3) Explaining the subject matter once again and then giving her/him another chance
(4) Asking another students to give correct answer
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fereit 731 % e IR § Foraed 1 watae e 0 @2

(1) oo 9l =l up 9r fif fasar | samm

(2) Tornfii =1 38 =@ 6 3HH 39 e ©

(3) o= 9rh &1 ue 9R R famr & samn @R i 38w o) e &
(4) gER famnedl § W& IW < o o Fwaw

Options:-

=1, Option ID :- 237,
« 2, Option ID :- 238,
» 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

Read the following :

(a) Children are totally involved in doing work without being disturbed by your presence.

(b) They are talking themselves, manipulating materials, trying different arrangements and ways
of solving the problem.

(c) If you asked about what they were doing, they could clearly state their objectives.

What kind of learning is in progress ?

(1) Activity based learning

(2) Cooperative learning
(3) Collaborative learning
(4) Peer learning
Tt =1 afeu :

(A) foreneff syt sufeafa & snge gu fomm ot & o g o | @ gu E

(B) A 31yd B o1 4 W &, Al | i & W E, q9en # gowe o+ fog fafis syawened siw el
I T F @ F

(C) fg o119 379 7% U8 f&F 3 0 3 ® ¥ o 9 o7 SRydl & R § T8 B H o6 g |

o R o1 eafenTe B R 2

(1) foram snenfta stferm

(2) FEFRI Al
(3) HewIfen e
(4) EEUE At
Options:-

=1, Option ID :- 241,
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= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which one of the following in correct ?

(1) Measurement is a process of obtaining information relative to some known objective.
(2) Measurement refers to quantitative data only.

(3) Evaluation refers to qualitative data only
(4)

4) Assessment is a process of awarding grades and declaring results.

Frefafad | 9 iF | | € 2
(1) 97 F3 T 294 & HU& SHR I8 FHE H T 9w 2|

(2) WA FHAA HEHS ST H Hafvd §
(3) HEAIHA had UIHE Sl H HeHd |
(4) 3THeM T ¢ 3R afomy Siftd 0 it T wlea B

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

Which of the following is not concerned with a unit test ?
(1) Standardized achievement test

(2) Remedial treatment

(3) Teacher’s control
(4)

4)  Limited number of competencies

Trefafad | 9 &, 3o gl o Hefyd 78] € ?
(1) W& Fuifh e

) SYIRIHE STER

3) HEAH I EE0

4) TEais ol Hifvg Hen

2

(
(
(
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Options:-

=1, Option ID :- 249,

= 2, Option ID :- 250,

= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

For keeping children lively, alert and busy, how can you save time, under classroom management
procedures ?

(1) By beginning the lesson when there is full calm and quite environment
(2)
(3) By giving instructions as and when needed
(4)

By giving your students a short written activity before starting a new activity

By allowing students to submit assignment as and when they complete it

oAl | Hishd, T X 4% W& o Tl 319 shefl s i fferi o Sidqid ford Tehi 9HE o= Hehd @ 2
(1) & IO T Iid Saee 8 76 e JE Hlh

(2) T T T gE w0 @ wee o fernfei i v ik fofea e S

(3) @ EYIF B, FIAY T

(4) Tornell st et fegn o i (wEEAHeE) 0 R o 99 S 5 Sl A @l STEf S

Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

The unit plan is not of much help to teachers in :

(1) timely completion of syllabus,

(2) making adequate preparation for proper utilization of methods and materials.
(3) assigning home work to the students in a differentiated manner.
(4)

4) preparing unit test for diagnosing learning difficulties and deciding about remedial measures.
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ST AT SeATS I AR Gemr e R U &

(1) 9ISTsRY &l 999 9 g0 L ||

(2) Taferl sik S &1 3ug® 3TAr T 3 T3 daR | |
(3) forntei=i =t - 980 ¥ e <A H
(4)

4)  wfer wee w1 M F 99 ST=ENIEE 3UE & 91 5 0 o 6 S9hTe 9E i qd1i
FEAHI
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

Which of the following statements truly defines teaching ?
(1) Teaching is engaging with students.
(2) Teaching is caring for students.
(3) Teaching is transmitting knowledge.
(4)

4) Teaching is a system of actions intended to produce learning.

Frefafea § 9, & 91 w97 fem 6 g8 w9 9 aRkefig s 82

) Toreror fernfefai % wmer e & @I R 1

) ey faenfiEt ot @ FE

3) foreror 9 1 TR A B

4)  Toregor Fomanatl =l ek WGt @ TSTerent ST S1fam el &1 §

(1
(2
(c
(

Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67
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What is the most important precaution to be taken while interviewing students ?
(1) Allowing enough time to the respondent

(2) Making rapport with the respondent

(3) Bringing clarity in the questions

(4) Building trust and confidence

BEI ol HIETRR ofd 94 ford Haifess Ageryul et i e4m W@l S =gy ?
(1) WA el (el ) i wE| 99 &

(2)  sFvell o Y = S

(3) 9 H TqEd &

(4) HOHT SR Tovam §AE
Options:-

«1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

Which one of the following is not a big issue for teachers of Multi level situation ?
(1) Using common text-books

(2) Addressing learning needs of high and low ability students
(3) Allowing all childrens’ learning at their own pace
(4)

Preparing appropriate teaching learning materials

e feafd & sieenl & foe Fafafaa 5 9 o T 921 48 96 @ 2

(1) HIS GrSTg&iehi &1 FART I |

2) sfeen iR &y e e faenfeEl ) siftrm sl a1 IeE
Toft faenfaai =t soet wifa @ dre T

I9YH Torequ-stferm Sl TFR |

Options:-

«1, Option ID :- 269,

= 2, Option ID :- 270,

= 3, Option ID :- 271,

= 4, Option ID :- 272,
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Answer Given:- 1, Option ID : -269

Question ID:- 69

In “Assessment as learning’ students do not engage in :
(1) Goal setting

(2) Monitoring their own progress

(3) Extrinsic Motivation
(4)

4 Reflecting on results

‘arfery % w9 eerar’ T el am AE o & -

(1) =ieg fuio H)

(2) ST =E i g @l HERGT w5
(3) @R UL o |

(4) afeors X fawH &

Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70

The classroom discipline should be meant for ensuring :
(1)  Self direction

(2) Personal and social adjustment

(3) Acceptable classroom behaviour

(4) Social conformity

FHET ST 1 31 ghftea F §?
(1) =

(2) e IR T TErEeH
(3) T - FEER

(4) HHIfSER STEYd

Options:-

=1, Option ID :- 277,

= 2, Option ID :- 278,
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= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT25FEBSH1
Question ID:- 71

What is the advantage of “Educational Counselling” in schools ?
(1) Enables to study well for exams

(2) Promotes interest in studies

(3) Facilitates students to take right decisions in life

(4)

4) Helps in selecting Job career

foremeri ® ‘Sreaforer wxmst’ &7 o1 0 @Y @ 2
(1) oiten % fom o7t 9t 9 4 996 |

(2) = H wfE F F9gE e

(3) B I SfEA H Hel F90F & H Hgm S |
(4) IR HIER F =09 § T S|
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Which one of the following could be an example of community learning ?
(1) Cinema Hall

(2) Cricket ground
(3) Home
(4) Local vegetable market

fFafafaa 7 8, [ W amefas dJfim & T 3[R B ?
) T EE

) fFee #1 fem
3) R

) R Hesl ETS
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Options:-

=1, Option ID :- 285,

= 2, Option ID :- 286,

= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73

Which one of the following could be the reason for mental illness among children ?
(1) Hormonal imbalance

(2) Emotional disturbance
(3) Traditions and customs
(4) Family Environment

f=fafea § 9, 5 I S § gHAfgE ST F1 UH HRIT 8 THhal ¢ 7

(1) @M e

(2) HAHF AR

(3) TR SR Afa-fars
(4) 9ftE = SrEL

Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74

How to promote “Mental health” among children in schools ?
(1) Playing games

(2) Regular Meditation and Reading good books
(3) Watching TV Programmes

(4)

Educational Tour
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faamedi § e § ' orfas w1 59 R g5 5 9l @ 2
(1) Ea Eeht

(2) TrafmE =am SR T=8! Yxich dgat
(3) 2 FEET TEH

(4) Sifarm YHT HIh

Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What should be the essential quality of Professional Health Counseller in schools ?
(1) Emotions

(2) Sympathy
(3) Empathy
(4) Apathy

Ferermerdi | S9ie Temees quHeiErdl | @ e 1 g =i 2

(1) Ham
(2) wErfd
(3) WY
(4) =AM
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

The programme ‘Manodarpan’ launched by Ministry of Education, Govt. of India, refers to :
(1) Mental health of children
(2) Physical health of children
(3) Emotional health of children
(4) Social health of children
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Tore-v=mer, YRd SRR 5RO fom T sy (e fRes Hefie €2
(1) =Rl = HFTEH Jed o

(2) S & ARG @R

(3) TR s HeTcH e |

(4) STeTehi o HrHTSR W@ |
Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

Question ID:- 77

What is the minimum quantum of disability to claim benefits prescribed for Divyangjan ?

(1) 50%
(2) 40%
(3) 25%
(4) 35%

TesairsHl o o faf+fde ey =1 gren 3= &g . werkar =1 =g Jen e 2 2

(1) 50%
(2) 40%
(3) 25%
4 35%
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78
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Normally “Inclusive Education’ refers to :
(1) Adult Education

(2) Girl students
(3) Divyangjan students
(4) Minority community students

qer=Ia; Tarant e’ fead gefua €2

(1) de ey

(2) @t faenfe=n 4

(3) fe=aimsm fomnfe=i §

(4) TeUHEIE TS & faenf |
Options:-

«1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

Which one of the following plays crucial role in educating the child other than school ?
(1) Cinema Hall

(2) Family
(3) Home
(4) Media

fagme™ § s 9 &1 Wifea w0 § Fefafad § § 6 Jeagel g A €2

(1) T et

(2) GRER

(3) =X

(4) wifem
Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,
= 4, Option ID :- 316,
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Answer Given:- 2, Option ID : -314

Question ID:- 80

Which one of the following could be grey area in addressing mental health issues of school
children ?
(1) Lack of awareness

(2) Unmotivated Parents
(3) Lack of Professional Experts
(4) Shortage of Funds

formerht s & THfaeE W Hedt gegi % goyE | fefafed 8§ 3 99 @ 89 sifus gea & 1@

(1) SRRl i HHI

(2) TR-—giearted Ard-fudr

(3) TSR femia =t

(4) g =
Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,
= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT25FEBSH1
Question ID:- 81

In present Indian school context a teacher as reflective practitioner has to be a :
(1) Idealist

(2) Realist
(3) Naturalist
(4) Pragmatist

aAHH AR Siferes Hewl § w wrerd feiets w1 @ g =fe ?
(1) sIesETa
(2) FemefamT
(3) HfqEm
(4) ASHES
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Options:-

=1, Option ID :- 321,

= 2, Option ID :- 322,

= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which one of the following a good school leader of a primary school should not discuss with his/
her collegues ?

(1) Political discussion

(2) Discussion on his/her nature
(3) Discussion about family background of children
(4) Discussion about the nature of their principal

U Wt el & U T Ageavitel S 1 S Wewtidl & e e d 4 e w W=l @
AT =fe ?

(1)  TsHITd 9 ==

(2) SHE 9 TWHE W

(3) SreTeR i OTiEnes 9By W ==

(4) ¥k WrEE % wEE W

Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

What is distributed leadership in the context of school education ?

(1)  When a teacher distributes his workload among younger collegues.
(2) When a teacher distributes work among his/collegues in a justifiable way.

(3)

(4) When a teacher distributes and collects various proforma among his/her collegues.

Employing more than one vice principal in schools.
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w1 foen & gaiy § erdes (fefigsgfes) g an @2

(1) @ Uz forere 7101 SR 3199wy gl § o ¢

(2) & U e o7 wewTHal | =EETd w9 9 HE o gean & |
(3) Thell H S Ueh § SAIGl SU-WEHTEME] sl 1w |

(4) 19 U foerr 9 weAiEl H fafas gusl 6l =i # gy

Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

What is not required in developing a school plan ?
(1) Data of school results in last 5 years

(2) Data of Teachers’ qualifications

(3) Health report cards of students
(4)

4)  Genetic constitution of learners

Ue Tl Ao faeniad e # foaet saveena T8 2 2
(1) frzer 9= a¥ § e 9fitom & s |

(2) Tl &1 FrEan & b |

(3) B % TEr R #E |

(4) ATl i SIS HEA |
Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

Which one of the following may not be needed for developing an annual plan of a school ?
(1) Qualification of teachers

(2) Data of admission of students

(3) Government circular on the list of teacher awardees

(4)

4 Government circular on using innovative teaching methods
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e § § @[ W U, T She F aiftie A e o T e T8 anm 2
(1) Toegeni =t Frgan

(2) B T % kS

(3) YW foierenl Heidl SRRl g1

(4) eTER faeor fafer ST w7 deH SR g

2

Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

While framing a school time table, generally which one of the following is considered as difficult to
learn ?

(1) English and Maths

(2) Music
(3) History
(4) Social Studies

el 1 HHE HIRl g4 §94, A e 8 8 o 1 w6 wie fawa qm s @ ?

(1) s IR i

(2) HHa

(3) zfiem™

(4) GHifSR eI
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87




3/7/23, 2:47 AM Response Sheet

The achievement data of a school may not be useful in
(1) Framing admission policy

(2) Deciding teaching strategy

(3) Distributing work among teachers

(4) Setting future goals

U Thel T et Heaut e R § wems e & g 2
(1) o9 fifq o g

(2) Teregor st TorHifa @9 * H

(3) el § wrd & deai |

(4) ifersr & Igevd e §
Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Who is the best initiator as a teacher ?
(1) Mr. Ram is an introvert but a good team builder.

(2)
(3) Ms. Nair has good emotional connection with her students.
(4)

U foneres & ¥4 H waftd s hiF €7

(1) it T SaigEt § W9 o9 § FI E |
(2)

(3) St PR F AT BHEI H =S HAMEH HaY B |
(4) sfmdt enfest @t sfiamEes | e Wd 9geH H HWohel @ 2 |

Options:-

«1, Option ID :- 349,
= 2, Option ID :- 350,
= 3, Option ID :- 351,
= 4, Option ID :- 352,

Mr. Yadu has been successful in positively changing the confidence level of all his students.

Mrs. Lahiri has successfully been able to collect school fee from all parents.

oft 71g S it B o SATHEIET 1 SR €9 J T8 H A% © §
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Answer Given:- 2, Option ID : -350

(1)

(2)
(3)
(4)

Question ID:- 89

Ideally the task of a school development plan should be given to :

Principal and Vice Principal
Principal, Vice Principal and School Inspector
Teachers, Parents and School Passouts

Parents and School Passouts

Srew ®9 § Thel fasry A s w1 wE fRE S =nfen 2

(1) 9HET=ER UE 39 94 &

(2)  WHFTE, 39 QeETERd UE e e
(3) Tiarn, sifiyamass U9 el | 9 8¢ @R
(4) sfvETEE SR T 8 99 g @nl
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

(D
(2)
(3)

(4)

Question ID:- 90

Partnership with community by school can be best created by

conducting more frequent meetings with parents.

asking influential community people to visit school and interact with teachers.

visiting every part of community and seeking comuunity peoples’ views and suggestions for
school education.

honouring honest and good people of community.

Ueh Shel 5R THE o H1Y HEER i 1 Faias T #4 § ?

(1) = faa % @ iR sifees % )

(2) HHSHE % YEE] AN sl Whel SR Toaehi & Wy 37<: a1 HE i FHgehi
(3) T ToeT &9 YA F e 9T H SR 98l o |l o 0 o g Wl |

(4) HHSH % SHMER SR 3T=5 SN ol FHHIHA i |

Options:-

=1, Option ID :- 357,
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= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Subject : PE_Q91-Q100_PRT25FEBSH1
Question ID:- 91

For bringing in equality the best agency is
(1) Constitution

(2) Family

(3) School

(4) Mass Media

T A & HaraH HIETH A ¢ ?

(1) wfaym

(2) WRER

(3) w&rd

(4) S FER 9EE HIEAH
Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Critical thinking can be enhanced even after reducing curricular load. This view was expressed
significantly by which document ?

(1) NEP - 2020

2) NPE - 1986

3) NCF - 2005
)

e

NCFTE - 2009
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TSR YR S ek off TS fG= e S HeEdl ¢ | 98 Ha Ry gwres Ay | fem ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE - 2009
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which one of the following statements is correct ?
(1) Pedagogy is part of curriculum.

(2) Curriculum is part of pedagogy.

(3) Curriculum and pedagogy are the same.
(4)

4) Curriculum and pedagogy have no relationship.

e 9§ - FeH TEl § 2

(1) foreomme greer==i &1 9r § |

(2) TSIl T 1 9 |

(3) STl iR foreromme v & )

(4) Ol SR fevrere | i Hay A9 7

Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

The idea of competency based learning implies that

(1) Each teacher teach one student.

(2) Each student learns as per his/her pace and aptitude.

(3) Schools should have provision for training maximum number of vocations.
(4)

4)  Schools should have provision for teaching almost every subject.
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geyal S e3ferTy o fa=ur | @ a7

(1) 9 foeer o Temnedl =1 9en

) W fermmedt eroet wif ofR sifaerder & W

) Tl = sifeay Her § SrerrEl o gl o g A =ey
) Tl ! O B AN 1 UeH 1 WEYE 1A Tk

(2
(3
(4
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,

= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

We give emphasis of child rights in our school system because :
(1) Children are the wealth of a nation.

(2) Children cannot raise their voice.

(3) Child age is a most vulnerable age.
(4)

4)  Children are of low age.

T Thell e § g9 a1 sl T S <4 € if
1) o= T it gufg 2id €

(

(2) &= Sl SAETS T2l 331 Hehdl |

(3) SICHTEE SEd A IR e A ¥
(4) THFHSHF AL

Options:-

=1, Option ID :- 377,
= 2, Option ID :- 378,
= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96
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Why is there provision for free education at elementary school level ?
(1) Through this the government can advance its agenda.

(2) Through this the deprived sections of society can be educated.
(3) Through this the governments can attain popularity.
(4)

4)  For reducing poverty.

yrfieR Thel T o foren = e < S E 7

(1) 39% B0 TUHR STI1 F1AH T g Gl 2
(2) TEF 5N GES & dfud o fafem fr = g €1
(3) T G TN CAHFHAl 91 Hehdl ¢ |

(4) TRIE HH HE Tl

2

Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

Who suggested that the science and maths should be compulsorily taught to girls upto 10
class ?

(1) NEP - 2020

(2) NEP - 1986

(3) Kothari Commission

(4) NCF - 2005

(1) NEP - 2020
(2) NEP - 1986
(3) IS AAM
(4) NCF - 2005
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,
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= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Who conceptualized the idea of DIET (District Institute of Education and Training) ?
(1) NPE - 1986

(2) NEP - 2020
(3) NCF - 2005
(4) NCFTE - 2009

T™E (DIET ) =f7 foren foren ud ufdter G2 &1 e st 2
(1) NPE - 1986

(2) NEP - 2020

(3) NCF - 2005

(4) NCFTE - 2009
Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99
What kind of experiences are included in the concept of curriculum ? Choose the best answer.
(1) Desired experiences

Planned experiences

(2)
(3) Unplanned and undesired experiences
(4)

4) Desired, undesired, planned and unplanned experiences

TS 1 SEURUN | HiF § Tvd mfae € ? J=ad SW g
(1) =ifed gya

(2) Trefea sy

(3) AT iR sfaifed syE

(4) @ifeq, sEifed, Feifsd ok sifwfed sgya

Options:-
=1, Option ID :- 393,
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= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

Which type of assessment will you not suggest for primary classes ?
(1) Formative

(2) Oral
(3) Written
(4) Summative

wrefaes e 3 oY fohd YR o goiish &1 goE el & ?

(1) TEAHS

(2) dHifas

(3) ferfa

(4) HeheHHS
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Subject : HINDI_Q101-Q120_PRT25FEBSH1

Question ID:- 101




3/7/23, 2:47 AM Response Sheet

Freafafiea iy St erTgds TgeRt SHUR ST W9 T WEis ST S

A NERRl oIR 55q g0 i & Ferasy wErg Feifis gt iR fabe & Feit &
IYAR YA ST HeA-FREH, TSh! IR T2rat IR o =1 fadien ya17 ar gaferor =i s, faier sik
froffa 51 w1 81 Fa-FraEr @ Fee a6 w9 & 3 A4 3R Sl # T 59 F ugfia e
S 9 8 €1 HE O Se-ge o W el i W uEd gU Sedel el it S e et fatred
91 9 g, U SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiewhnil $iR whedl 1 R 9
THEAT G YR VIR, el ShIETHl oh I Rl AT Shal goll &6 ofi- it SftR ae W gen &1 Afe gt i
H BN yatar st feafd se § seat B T2 O WEE Sied s T STene Yy, o 81 S |

e enfasrrl ol sed siriieto 4§ .
(1) 29 = e gam &

(2)  @nfeler faerma o=t & g © |

(3) wEry gt i fedied @ e
(4) T I SitEe AEE @ T

Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Frerfefiaa ey Ft earTgEE Ugeht SHUR ST WA T Held ¥ o

A MRl IR 55q g0 i & Ferasy wmeErg Jeifs gfta v fabe & Feit &
IYAR YA ST HeA-FREH, TSh! IR T2ret IR o =1 fatien ye17 ar gaferor = s, faier sik
frsffa 51 w1 81 Fa-FraEr 9 Feer a6 w9 & 31 A4 3R Sl # T 59 F agfia e
SR o @ 1 FE F g ol ¥ gl i W Hed gU el W o 3T freem arer fatedt
91 9 g, U SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiewhnil $iR whedl 1 R 9
THEAT G YR VIR, el ShIETHl oh I Rl AT Shal goll &6 ofi- it SftR ae W gen &1 Afe gt i
H BN yatar st feafd se § seat B T2 O WEE Sied s T STene Yy, o 81 S |

Frfafiaa 9 | SF—r qo yfewo 1 foden s w@ 22
(1) =St aE1H sl STerd Hol-hrEH

(2) Eiea o faden gat

(3) U2 § 9o 9 arEnl o faten ger

(4) ST w4

Options:-
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=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103

frefafaa i it ST yaes Ugeht SHUR TR U9 ol Heldh STl Giiag :

AYAR Y3 ST heA-FEEH, GShi 3R U2rar iR Eisia o1 fatien g1 9 gafew 1 v, faten o)
frsila &1 @1 §1 wa-wrar 9 Fewe el FE & el A6l AR S & A Sid @ agie SR
St 91 @ €1 FE F a9-ge o 9 gell it w ued gu sl WAt ok 3 feen el fateh
i 9 ga, gr iR gt wefta @ @ | s1eRd Sred g8 99, Yerniedi, ARt iR whedl o1 it sea
THEAT § YN VIR, Hel-shIETHl o YR i g Shal goll &6 effy- ot aftR 9m W gen &1 3fg s vl
q g vataeo i feafd o= | 95 St 8 HEa Siad i {5 SIS HHrEAd foTs g1 S |

T 1 G ATMIE GUEA faee 21 s afg
(1) iR g2 T |

(2) A e Her s 7

(3) gEE S feufd 98 | Fgat gl |
(4) S HI YEd W HAH A fean
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104
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Freafafiea iy St erTgds TgeRt SHUR ST W9 T WEis ST S

A NERRl oIR 55q g0 i & Ferasy wErg Feifis gt iR fabe & Feit &
IYAR YA ST HeA-FREH, TSh! IR T2rat IR o =1 fadien ya17 ar gaferor =i s, faier sik
froffa 51 w1 81 Fa-FraEr @ Fee a6 w9 & 3 A4 3R Sl # T 59 F ugfia e
S 9 8 €1 HE O Se-ge o W el i W uEd gU Sedel el it S e et fatred
91 9 g, U SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiewhnil $iR whedl 1 R 9
THEAT G YR VIR, el ShIETHl oh I Rl AT Shal goll &6 ofi- it SftR ae W gen &1 Afe gt i
H BN yatar st feafd se § seat B T2 O WEE Sied s T STene Yy, o 81 S |

FA-HEEM o TR ! FIAT Ll g7 Fohgant 9K 39 -+ aftr s w22
(1) I7ad arsdl g o4l

(2) vermfe

(3) HIRTEHR AR Wt

(4) S gof

Options:-

=1, Option ID :- 413,

= 2, Option ID :- 414,

= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

Frorfafiam ey &t sngdes dget SHOT st wyR T weéie ST S

AR enfashil o) sigd gu i & werasy woErg gaifus gfra o) faded & =l €1
YR 27 A FHol-FHEH, Tk IR G2 v reret 1 fation yaif gt waferwo w1 g, faden @ik
fsifa o1 w1 81 Fa-FREr 3 e ol swel & el TE-Te SR StenrE % e 5o @ wefi o
SR o W | FE F oH-ge ol W el Y W HEd g Sed W oK 3 feem aret fatred
a1 @ a1, gt IR fogt weftd & w6 &1 errend Sredl g 9, Yermtey, detrnl $iR whedl o Fiet sed
SHEM g 9 YR, FA-FHREM o 9K i AT A G 80 - o R s I gen 1 Afg 5 fa
T N gatew o feafd 98 ¥ e St T 9 EE Sfied ® wHE Sy HueErd faee 2 s |

FE ATl AR Tergrt &1 e ster ferger grr ferdier s o @ R 2
(1) YerEl ¥ 31 et gt 8

(2) il = e e

(3) FA-HREM 4 FFHad ol FAL F e U

(4) G TgEUH

Options:-
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=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

(1) fremr
(2) fAfrer
(3) TEAER
(4) 9T
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

“Heqe ! T ol SR §
(1) rerrma

(2) HierrHE

(3) TERIH

(4) HeIH
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108
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frafafad sreg Fi § Joaq-agya &1 ST5TH 9 ®

(1) 3T - 3T
(2) = - HH

(3) 4 — sqRq
(4) &AM - 3"
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Frefafas facmedl vee—gmHi § e &
(1) =afe - gafe

(2 o - gEu

(3) HHM - YA

(4) @9 - G

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
« 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

fargromn & wan vredi § T ©
(1) el - faem

(2) @E - @™

(3) Y - oHdl

(4) T — e
Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,
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= 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

Tyfafas | fawi 9y amen v 7281 & -
(1) Tredce

(2) AR

(3) THERIX

(4) @Afqus
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

'2q W T R o Wl oY ®

(1) o o 80 el

(2) IS W

(3) SZH YHEA HEAl
(4) T F g
Options:-

«1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

(1) = A
(2) #hfad
(3) w@

(4) =Ed

Options:-
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=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

(1) v goe fhg

(2) WG HIHE

(3) HHE FHAI =@

(4) THER foe foret
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

" T afeE FET o SR W FarEy o G 1 gHMeR I SHEer g # @ ?

(1) = I a0

(2) =% =TT H

(3) =@ SHFER & o

(4) @@ AT 1 STEHe THE W@ A1
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116
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‘ra genstt A/ sl A FHiaa & =i E

(1) R T T

(2) HLs fomwm

(3) HUPHARIA

(4) THyR feg ‘ot
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

"o " TR T o TAI € ;

(1) TH9r=E wE
(2) AR AR
(3) ar
(4) Gz fospH
Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

‘HTe aret s § =i IR-9R ST S FE Y A SHIET 912

(1) o781 =1 0 & fer

(2) YREE FC & fau

(3)  STFHI %I 1™ & S o feg
(4) TFT R AR T * fog

Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,
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= 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

3% 99, 3¢ 99,
EECT G CACG R i
1oy -dferral fome oo 9 et T € 2

(1) fofEm-1
(2) TEfEHE-2
3) fofEm-3
(4) i -4
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120

‘e A Eell Fedle’ T o SATUR 9 FaEy ok I o T= UM 9 SHE 9T ) g ?

(1) W = SEH

(2) HIE] =l SEEL

(3) TS oM@ WS WA 9

(4) 9Tl o T8I § AT M9 &1 5 &
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT25FEBSH1

Question ID:- 121
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

Where did Sriram find evidence of his mother’s existence ?
(1) He found it in a photograph hung on a wall.

(2) His relatives talked about her.

(3) He saw her in a dream.

(4) He remembered her as a child.

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

Why didn’t Sriram like her mother’s appearance ?

(1) Because she was too dark

(2) Because she lacked motherly kindness and affection
(3) Because she didn’t look like a pretty European queen
(4)

4 Because she was different from what he had visualised

Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

What was contained in the envelope the postman brought for granny ?
(1) A handwritten note

(2) Monthly pension

(3) A bunch of flowers

(4) A handful of stamps

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 2, Option ID : -490

Question ID:- 124
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

What do you mean by ‘oblong’ ?
(1) square

(2) triangular

(3) round

(4) rectangular
Options:-

«1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 4, Option ID : -496

Question ID:- 125
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

What did granny do with the money she received ?
(1) She spent it on household needs.

(2) She deposited it in the Post-office.

(3) She handed it over to the narrator.

(4) She kept it safely at home.

Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Rearrange the part in correct order to make meaningful sentence.
(a) English continues to play

(b) of the country,

(¢) in the linguistic environment

(d) an important role

(1) (d) (o) (b) (a)
(2) (o) (b) (a) (d)
(3) (o) (d) (b) (a)
(4 (a) (b) () (d)
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
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= 3, Option ID :- 503,

= 4, Option ID :- 504,

Answer Given:- 2, Option ID : -502

Response Sheet

Question ID:- 127

(a) that we must
(b) cultivate

(¢) isa virtue

(d) politeness

(D (@) (¢) (d) (b)
(2 (b)(a) () (d)
(3) () (©) (a) (b)
(4 (9 (d) (a) (b)
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,

Answer Given:- 3, Option ID : -507

Rearrange the part in correct order to make meaningful sentence.

Question ID:- 128

Fill in the blank with correct preposition.
On hearing the good news, he was beside himself

(1) of
(2) from
(3) with
(4) for
Options:-

«1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,

Answer Given:- 3, Option ID : -511

joy.

Question ID:- 129
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Fill in the blank with correct preposition.

In reading, I prefer fiction poetry.
(1) for

(2) from

(3) than

(4) to

Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Identify the correct tense form for the underlined expression in the given sentence.

The entire family will be leaving for the US next month.

(1) Future Tense

(2) Future Continuous Tense

(3) Present Continuous Tense

(4) Future Perfect Continuous Tense
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
« 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131

Identify the correct tense form for the underlined expression in the given sentence.

He had finished writing the essay when I met him.

(1) Simple Past Tense

(2) Past Perfect Tense

(3) Present Perfect Tense

(4) Present Continuous Tense
Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,
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= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
Neither Ram / nor Mohan / were present / in the class.

(1) 2) (3) (4)

Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Identify the part which contain an error.
He had hardly/ recovered from cold / than he had / a stomach ache.

(1) (2) ) (4)

Options:-

=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Question ID:- 134

Choose the word nearest in meaning to the given word.

DEFICIENT
(1) lazy
(2) feeble
(3) inadequate
(4) mistaken
Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135
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Choose the word nearest in meaning to the given word.

AVERSE
(1) indifferent
(2) unwilling
(3) angry
(4) jealous
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Choose the word opposite in meaning to the given word.

LABORIOUS
(1) hostile
(2) weak
(3) indifferent
(4) lazy
Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Choose the word opposite in meaning to the given word.

MANIFEST
(1) fuzzy
(2) dark
(3) hidden
(4) sinister

Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,
= 4, Option ID :- 548,
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Answer Given:- 1, Option ID : -545

Question ID:- 138

Identify the part of speech of the underlined word.

What! Have you lost your mobile again ?

(1) Conjuction
(2) Interjection
(3) Preposition
(4) Adverb
Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
The landlord evicted the tenant from the house.
(1) The tenant has been evicted from the house by the landlord.

(2) From the house the tenant was evicted by the landlord.
(3) The tenant was evicted from the house by the landlord.
(4) The tenant is being evicted from the house by the landlord.

Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part in the given sentence.

What he has reported from the ground is false and mischievous.

(1) Noun Clause

(2) Adjective Clause

(3) Adverb Clause

(4) Principal Clause
Options:-

=1, Option ID :- 557,
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= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Subject : MATHS_Q141-Q160_PRT25FEBSH1
Question ID:- 141

Which of the following statements is false ?

(1) Two acute angles having same vertex can make a straight line.

(2) One acute angle and one obtuse angle having same vertex can make a reflex angle.
(3) Two acute angles having same vertex can make a right angle.
(4)

4) Two obtuse angles having same vertex can make a reflex angle.

frefafad weEt § J FH-51 7o § 2

(1) & =gF w5 9 T6E €, T % 1@ o7 T ¢

(2) U = H AR s stk ior i o wEe € ue widedt s S g |
(3) & = = T 9 T €, T GHE 9 Hahd ¢ |

(4) & s wror fomest 3 T &, weh wfqad] o o Hehd )

Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

The volume of a cube whose edge is 6 m is times the volume of a cuboid of dimensions
36 mXx30 mx24 m.

(1) 60

(2) 120

(3) 90

(4) 80




3/7/23, 2:47 AM Response Sheet

TF 6 m RN a1t B9 o1 379, 36 mx 30 mx 24 m HAAH G SNHH AFGH A Tl
2l

(1) 60

(2) 120

(3) 90

(4) 80
Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

Length of a park is 835 m and breadth is 234 m. Sujata takes 3 rounds of the park. Distance
covered by heris:

(1) 6044 m

(2) 3 km 2138 m
(3) 3207 m

(4) 6 km 414 m

Teh I i w18 835 m 21 HTerE 234 m 1 G 39 U & 3 TRt oIt € | S5 g1 aF i T g ¥

(1) 6044 m

(2) 3 km2138 m
(3) 3207 m

(4) 6km4l4m
Options:-

«1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144
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Forty million forty thousand forty is :
(1) 400 4000 40

(2) 40 400 40

(3) 400 400 40

(4) 40 4000 40

ety fofem =iy esr =y €
(1) 400 4000 40

(2) 40 400 40

(3) 400 400 40

(4) 40 4000 40
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

On adding 10 to the largest five digit number, you will get :

(1) 100999
(2) 100090
(3) 100099
(4) 100009

U U S| Srell Fey o€l e H 10 Fi SigT R 9 &

(1) 100999
(2) 100090
(3) 100099
(4) 100009
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,
= 4, Option ID :- 580,
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Answer Given:- 4, Option ID : -580

Question ID:- 146

A leap year has :
(1) 52 weeks 1 day

(2) 52 weeks 2 days
(3) 52 weeks 3 days
(4) 52 weeks 4 days
LERG R R R
(1) 52 9ww 1 fe
(2) 52 wwrg 2 feT
(3) 52 &wie 3 fe
(4) 52 ¥wE 4 fe
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

The number of squares in the given figure are :

(1) 8
2 10
3) 9
@ 7
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feu o fog © ot =0t 9@ €
(1) 8
(2) 10
(3) 9
4) 7
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Response Sheet

Question ID:- 148

Which of the following statements is wrong ?

i 2/ .
o202
oy L2
5 10_ 10
(%) 11 110
4 3>7
(4) 8 12
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e e § O -9 T o € 2

Response Sheet

—_—
'—
T
Ol U
W
el NN

@ 35>
5 10_ 100
(3) 11 110
(4) 8 12
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

John went to market with Rs 500. He purchased 8 pens for Rs 19.18 each, 3 markers for Rs 2441
each and 4 rubbers for Rs 4.36 each. Amount left with him (in Rupees) is :

(1) 255.89
(2) 256.11
(3) 255.99
(4) 253.89

S T 500 TeRT BISTR 711 389 T19.18 Rl & H 8 UF ; 3 AR, T 24.41 &l & H IR 4 W T 4.36 &l
H w1 3% 9 9 ufy (3 H) T

(1) 255.89
(2) 256.11
(3) 255.99
(4) 253.89
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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Choose the odd one out
(1)

(2)

(3)

(4)

feros =51 g1 whifS

(1)

(2)

(3)

(4)
Options:-

=1, Option ID :- 597,

= 2, Option ID :- 598,

= 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599
Question ID:- 151
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Which of the following statements is wrong ?
(1) Cone has one vertex
Cylinder has two circular edges

(2)
(3) Sphere has no edge
(4)

Cuboid has eight edges

1 sl § | -9 e § 2
(1) ¥ig &l T vid S 2|

(2) e & & gaERR R g
(3) 7irct W1 @hIE fohaT &l Bl B |
(4) =AY 7S R B €
Options:-

«1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

An electrician bought 500 m of wire. He sold 43 m 75 cm of the wire to one customer and
158 m 50 em to another customer. Wire left with him is :
(1) 298.25 m

(2) 29820 m
(3) 297.75 m
(4) 298.425 m

U 3RS 3 500 m TR BEIET | 399 U U8 %1 43 m 75 cm IR L TeSF 1 158 m 50 cm TR &= |
39 I 99 TR T

(1) 298.25 m
(2) 298.20 m
(3) 29775 m
(4) 298425 m
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
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= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

A leaking tap drips at the rate of 150 mL per hour. Water wasted in a day will be :
(1) 280L
(2) 3.00 L
(3) B3.06 L
(4) 53.60 L

U @E (AfET) T § 9T 150 mL Wi = i 2§ 29 @I T | U fem § = g ©

(1) 2.80L
(2) B3.00L
(3) 3.06 L
(4) 3.60L

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question ID:- 154

Which least number should be added to 10100, so that the sum is exactly divisible by 49 ?

(1) 41
(2) 46
(3) 43
(4) 28

10100 ¥ HF-H §od S e S 9, & Frmeed 49 3 goia fasfad g s 2

(1) 41
(2) 46
(3) 43
(4) 28

Options:-
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=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Observe the pattern given below and choose the missing number from the options.

4 |18 | 12 5 (24| 15 7 |33 | 20 6 | 29 [ 18

©, O © O

—
(3]

P e T R S
W
N

e
~] oW

A4 feu Ye = Ga FfSE @R feu Tu el # § faqa sen #1 giu)

4 |18 | 12 5 | 24 15 7| 33 20 6 | 29 18

© O © O

(1) 3
(2) 5
(3) 8
4 7
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156
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The weight of five tables in a shop are 9.8 kg, 12.42 kg, 25.38 kg, 4.426 kg and 32.388 kg. Shop
keeper got one more table and now total weight is 100 kg. The weight of new table is :

(1) 15.566 kg

(2) 15.688 kg
(3) 15.568 kg
(4) 15.586 kg

T gHA § 9 BN % R 9.8 kg, 12.42 kg, 25.38 kg, 4426 kg 31 32.388 kg ¢ | THMER A Teh X H
o el Sf 7| FHE IR 100 kg B T T A F AR R
(1) 15566 kg

(2) 15.688 kg
(3) 15.568 kg
(4_-) 15.586 kg
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

Arrange the following measurements mm, dm, km, hm and cm in decreasing order :
(1) hm, dm, km, mm, cm
(2) km, hm, dm, cm, mm
(3) km, dm, hm, cm, mm
(4) mm, cm, dm, hm, km

ﬁﬂﬁf@ﬂﬁnm,me,lmﬁImaﬁﬂEﬁ%ﬁﬁaﬂﬁﬂﬂml

(1) hm, dm, km, mm, cm
(2 km, hm, dm, cm, mm
(3
(

km, dm, hm, cm, mm

4) mm, cm, dm, hm, km

e

Options:-

«1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,
= 4, Option ID :- 628,
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Answer Given:- 2, Option ID : -626

Question ID:- 158

In Roman numerals, value of CVIII + CXLVI is equal to :

(1) CCLIV
(2) CCL VI
(3) CLLIV
(4) CLL VI

e 3t H, CVITT + CXLVI &l °9F & :

(1) CCL 1V
(2) CCL VI
(3) CLL IV
(4) CLL VI
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

Marks of two students, Simi and Shally in a unit test (out of 50) are given below :

Subject Marks of Simi | Marks of Shally
English 30 35
Hindi 45 42
Mathematics 48 50
Science 38 38
Social Science 25 40

Based on this table, which of the following statements is wrong ?
(1) Difference of their aggregate marks is 19.

(2)

(3) Difference of highest & lowest marks of both are equal.
(4)

Average of Simi’s marks = 37.2.

Both have scored highest in Mathematics.
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TS Ueheh iian # <1 e, ot 3 9ol & % (5089 9) 9 Ru e g .

oo faddt & oi 9ol o 3R
FHISIT 30 35
féet 45 42
o 48 50
o 38 38
AT fa= 25 40

29 AIfera & 3TYR 92 e § 9 SHiF-91 e @ 2

(1) 3% 3ol F T M H] &R 19 Bl

2) fait ¥ 2img o =37.2 %1

) A g % Al SR A ST Fl ST §EE 7
4y  EF % v H AT o €

Options:-

=1, Option ID :- 633,
« 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

Some statements are given :

(a) Equilateral triangle has 3 lines of symmetry.

(b) Circle has 2 lines of symmetry.

(c) An isosceles triangle has two lines of symmetry.
(d) A rectangle has two lines of symmetry.

() Letter A has one line of symmetry.

Which of the following option correctly describes all the above ?
(1) (a), (€), (d), (e) are correct and (b) is wrong.

(2) ), (d), (e) are correct and (b), (c) are wrong.
(3) ( ), (b), (e) are correct and (c), (d) are wrong.
(4) Only (c) is wrong.
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EEERELE

(a) THETE 5y = o7 gafid wEn g ¥

(b) UF g i <1 wufd e g g

(c) uF wulgarg s =+t & Hufte Tard 2t &

(d) T ST S gl T et ¥ |

(e) & A F! U HHtd @ Tl

e fasredl & & -1 39 9t 1 92 ®Y 9 e A © 2
(1) (), (0), (d), (e) &N € T (b) TeTd &
(2 (a), (d), (e) W& T T (b), () T T
(3)  (a), (b), (e) T T W (0), (d) TTerd &1
(4) FaC (c) T €l

Options:-

=1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT25FEBSH1

Question ID:- 161

(
(
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.

Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below :

Assertion (A): Carbon Dioxide (CO,) is the best extinguisher for fire involving electrical
equipments and inflammable materials like petrol.

Reason (R) : CO, being heavier than oxygen, covers the fire like a blanket which cuts off the
contact between fuel and oxygen, hence the fire is controlled.

(A) and (R) both are true and (R) is the correct explanation of (A).
(A) and (R) both are true but (R) is not the correct explanation of (A).
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= <1 g o e ¥ v o afieRed (A) ST TE 1 HROT( R ) el T E | A9 R e e o weme

T e I FH T FL|

AfUwAT (A) : T Sus iR U2 S seerRitel verel # Tl S o forw e SEsiEEEs (CO,)
o] 37531 LA B

WAUT(R): SRS o Wi 81 % HR0 CO, 301 %1 FHHae i 0 T ol ¢ 1 389 69 3R
ST % e Trgeh 2 S €, o7d: 3T W e € 5w §)

(1) (A) 3R (R) SF1 |8 g, 81 (R), (A) & TE =& o4 & |

(2) (A) 3R (R) 3 T § T (R), (A) F1 T AT T H@ ¥

(3) (A) WEl €, T (R) TTed &

(4) (A) T & W (R) HE €

Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

There are some plastics which when moulded once, can not be softened by heating.
These plastic are called :

(1) Thermosetting plastic

2) Thermoplastic

53]

(2)
(3) Rayon plastic
(4) Nylon plastic

FS ieF TF § 9% wh ar 9 ¥ o foun s & @ 3% oo ga T T fomen s wehan | T wnfesw
FEA ©
(1) eEEfeT wfes

(2) oHTERES

(3) WA wfe®

(4) TEAA wiEEw
Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,
= 4, Option ID :- 648,




3/7/23, 2:47 AM Response Sheet
Answer Given:- 1, Option ID : -645

Question ID:- 163

Think about the following statements and choose the correct answer with the help of given code :

(A) Food products infected by microorganisms can be poisonous.

(B) Fungi can attack on the bread left in bright sunlight.

(C) Bacteria can live in oil and vinegar that is why it is used for preventing the spoilage of
pickles.

(D) Meat and fish are covered with dry salt to check the growth of bacteria.

Code :

(1) only (A) and (B)
(2) only (B) and (C)
(3) only (A) and (C)
(4) only (A) and (D)

Freafafea saaed W fF=m # &R &2 =t TeEd 3 98 3 % 991 S

(A) FeAsial gr Hefvd sis 9 e foumEd & 9 21

(B) O YU H T S W FHId ABHAY F od g

(C) o e fawer o Sfany Sfifad & ¥ahd € SHerY 71 STANT 3791 Hl 590 § = & fog faFn s
gl

(D) itam =i gig T o fTw 7" a2 926l sl 9@ 9% & @ ad @ |
W:

(1) e (A) ¥R (B)

(2) e (B) R (C)

(3) el (A) R (C)

(4) ad (A) 31T (D)

Options:-

=1, Option ID :- 649,
« 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164
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Match the following :

Response Sheet

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Person Discovery/ Invention
(i)  Louis Pasteur (a) discovered the vaccine of small pox
(i) Alexander Fleming (b) discovered fermentation
(i) Edward Jenner (c)  discovered Penicillin
(iv) Robert Koch (d) discovered Bacterium namely Bacillus Anthracis
Code :
) (@)-@) (D)-O), G)-(c), (v)-(d)
(2)  (©-(@) ([{)-(c), (iii)-(b), (iv)~(d)
(3 @-() ()-(c), (@)-(a), (v)-(d)
@) (@)-0), @)-(@), (i)-(c). (v)-(d)
frfefea 1 faem #X1
e ITH™
i) s R (@) =I=ER % ik %l @IS
(i) i wAfHT b) TrvaT = @
(iii) TSHS S (c) uFfgfer &1 @l
(iv) T (d) e TIfay A Sam i @rst
(1) (i)-a), Gi)-(b), (i)0), (v)(d)
(@) @O-@), QD)-(c) (ii)-(b), (v)-(d)
3 ®)-() ({)-(c), ()-(a), (iv)-(d)
4)  ([©)-(b), {)-(a), (ii)-(c), (iv)-(d)
Options:-

Question ID:- 165
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Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of code given below :

Assertion (A) : All living beings need water to live.

Reason (R) : Water is essential because germination of seeds does not take place under dry
conditions

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

1 &1 weaed fEu U € | Ue i S1feRe (A) TR gEE 1 ST (R) el T © | S R T e 5 wem
H Hel IR H =TI H

RTRe (A) :  STifad @A % T yess e 1 Sidl i SAEyaedl gl & |
T (R) : el STTEve € FFifeh aifsii o1 S50 ek fearfa o 981 2 wepa |
(1) (A) 3 (R) TFT Tl & SR (R), (A) FI T& =0 F & |

) (A) 3R (R) SF T €, T (R), (A) I Tl A T HAE |

) (A) B& g, W (R) T B

) (A) T € W (R) HEl B

(2
(3
(4
Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
« 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

Think about following statements and choose the correct answer with the help of given code :
(A) When plants of the same kind are cultivated at one place on a large scale, it is called crop.
(B) Crop of wheat means that all the plants grown in the field are that of wheat.

(C) Crops which are sown in rainy season are called Rabi crops.

(D) Crops which are sown in winter season are called Kharif crops.

Code :
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FrefafEd weal © fa=r & 3R F= fou 7 %z = g2Ear § 98l 3T & 9979 i
(A) @ TF & o % 9 frdt TH W e e W I 9N ¥, O 39 Ee Fed 8
(B) TiE i wHel o121 ¥ foh wa F 3e =i arer v e g F ¥

(C) % e fag aui s5g H = ST €, To W Heed ¢ |

(D) ¥ g H SR ST 976l ool @U% B e ¢ |

1) ad (A) $R (B)
2) & (A), (B) 3R (C)
= (A), (B) ¥R (D)
e (C) 3R (D)
Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Which of the following is true about arteries ?
(1) It carries oxygen rich blood.
2)  Itcarries blood from all parts of body to the heart.

(
(
(

)
3) Blood flows in low pressure in them.
4) It has thin walls.

e o | - e yafE % ge F wd § 2
(1) e SRS T9g T Haf il ¢ |

(2) F% T ] IR o & FT 9 T84 9% @l © |
(3) 3HH TR HH S & HY e & |

(4) =g! fufEr gaett 2t €1

Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665
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Question ID:- 168

Suppose you are staying near the sea-shore. How will you know that a cyclone is approaching ?
(A) By feeling strong winds

(B) By observing low power waves in the oceans

(C) By observing dry weather.

(1)  (A) and (B)
(2) (B)and (C)
(3) (A)and (O)
(4 Only (A)

Fegl & o ST TgE fRR @0 € | A RH a1 i {5 Fehar o W@ E 7
(A) TS g3l 1 TR Fh

(B) =hH T =eil HHRT STe i Gt

(C) Yh HTH I SEHT

(1) (A) ¥ (B)
(2) (B) #R (O
(3) (A) 3R (Q)
(4) FaA (A)
Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Polar bears have single layer of thick fur.

Reason (R) : The fur of polar bears protect them from extreme cold.

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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= 2 aeTe feu e E | v i AR (A) TR G I RIT (R) e T § | 9 feu T % i gem
T el ST 1 FF B

MR (A) :  YER W F VIR W A BI U HE W 2 F
T (R) : YA Te] o 91 S helh i 98 H T4 @ |
(1) (A) 3R (R) a1 &l € i (R), (A) T TE = &% &
(2) (A) 3R (R) 3 T&I &, 94 (R), (A) &1 TEI a1 &l 3 2
(3) (A) §@ &, T (R) 7T 2

(4) (A) 7eTd € 9 (R) Hel 7

Options:-

=1, Option ID :- 673,

= 2, Option ID :- 674,

= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Choose the odd one out :

(1) Tongue

(2) Palate
(3) Gums
(4) Teeth
ﬁﬂﬂﬂﬁ
(1) =fy
(2) g
(3 wgs
(4) =@
Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171
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(1)
(2)
(3)
(4)

I stay in forest area of a state where everyone has the right over the farming land, but who will be
given how much land for farming is decided by drawing lottery. I live in which State?

Chattisgarh
Jharkhand
Uttarakhand
Mizoram

# u T T % S &1 TEanAed § ol WSt A i W e sften @ Wy f e s g
% foru & sl sue fore wifed Fepret it €1 7 forg o 3 e/ @l § 2

(1) BETE
(2) FrREE
(3) TWES
(4) THsiRH
Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 4, Option ID : -684

(D)

Question ID:- 172

Suppose you are standing on the surface of Moon, you will :

be able to see the earth completely

(2) Dbe able to see the earth partially.

(3) not be able to see the Earth.

(4) be able to see the Great Wall of China completely
FHET! F o 19 e H TaE WESE ol :

(1) 39 T geatt &1 3 |

(2) A9 geAt I oTifvIeE T W <@ U |

(3) 39 geAT W Rl @ U |

(4) T = I TR AR T W S8 e |
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
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= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

You all have seen snake charmers playing “been’. Which vegetable’s dry shell is used to make
‘been’?

(1) Bottle Gourd
(2) Papaya

(3) Ash Gourd
(4) Pumpkin

st et 3 WO Rl oA I S g e g o6 fore R et % gE @t @ ST BT §

(1) iRt
(2) ot
3) F=S
(4) %
Options:-

«1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

=« 4, Option ID :- 692,
Answer Given:- 1, Option ID : -689

Question ID:- 174

‘Bora” is variety of which grain ?

(1) Wheat

(2) Rice

(3) Maize/corn
(4) Potato

‘SR fRe 2T ot TR B 2
(1)

(2) =mEd
(3) eI
(4)
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Options:-

=1, Option ID :- 693,

= 2, Option ID :- 694,

= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Raju does the work of dyeing clothes. He can use the colours of which of the flowers below to dye
the clothes ?

(A) Zenia

(B) Marigold

(C) Jasmine

(D) White Butterfly pea

(1) (A)
() (A)and (B)

(3) (A) (B)and (C)
(4)  (B), (C) and (D)

(A) S

(B) T[T

(C) e

(D) HWE TR
(1) (A)

(2) (A) ¥ (B)
(3) (A), (B) R (O)
(4 (B), (©) W (D)
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176
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Below are two statements. Choose the correct answer from given options :

Statement I:  Children should be given chance to help each other in the school as well as in
neighbourhood

Statement Il :  Children easily learn a lot from each other.
(1) Statement I and II both are true

(2) Statement I and II both are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true.

= 21 s feu e ¥ feu gu faened 9 | T 3w % =9

HUT - 1 : oo § o smg-uSm § o= 1 Uil i Heg F3 & Hishl <1 91 |
HYT - 11 : TH-H 9 ool HEsIdl § 9gd F HiEd 2 |

(1) =R 1 3R 11 31 SR 2 |

(2) R 13T 11 M 7o €

(3) hYA I TEl § Tig e I 7Terd € |

(4) HYF 1 7TEd © Tig R I TR 2 |

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Consider the following statements and select the correct option(s) :

(A) The people who neither can speak nor hear, they explain their words to others through
gestures.

(B) The people who neither can speak nor hear, they always understand completely what the
other person is saying by studying their lip-movements.

(C) The people who neither can speak nor hear like everyone they can’t be admitted in a
government school.

(D) The people who neither can speak nor hear like everyone, they can only be admitted in a
special type of school.

(1) (A)and (B)
(2 (A)and (O
(3) Only (A)
(4) Only (D)
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frafafed weEl W faar Fi 2R H&1 3T & =97 H|

(A) S el drer o g e e, 3 ot ol gt SRl | gee §

(B) S @ Ere o G e Wehd o GHI I WG SHYN IF BiSl hl SEeHt T T THY S ¢ |
(C) okl 08 S 9= A Tel HWehd 3= Geahl fomera § grfgen =& fean s wehar g1
(D) Hah! W& S god S 76l Hohd 3¢ 9% WY We & faenea § g A fezn s 2

(1) (A) 3R (B)
(2) (A) SR (Q)
(3) A (A)
(4) I (D)
Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

What is being talked about in the following lines ?
Life on Earth it has brought,

watered field and life they got.

But when the water breaks in floods,

Great misfortune it always works.

(1) Rain

(2) Flood
(3) Water
(4)

4 Dew
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frefafea diemdi § fras an d o frm s w82
YAl 9 S o,

G Hi=gH A

5 91 I

R} ST BTl ¥

(1)
2)

3)

5444

(
(
(4)
Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Response Sheet

Question ID:- 179

Match the following :

Deficiency disease/ Disorder Vitamin/ Mineral
(a) Rickets (1) Calcium

(b) Bone and tooth decay (i) Vitamin-D

(c) Goitre (iii) Iron

(d) Anaemia (iv) Iodine

(1) (a)-0), (b)-(i). (¢)i), (d)-(iv)

(2 (a)-(i), (b)-(3), (0)-(iv), (d)-(iii)

(3)  (@)-(iv), (b)-(it), ()-(ii), (d)-(3)

(4)  (a)-(id), (b)-(ii), (0)-(v), (d)-()
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=1, Option ID :- 713,
= 2, Option ID :- 714,
= 3, Option ID :- 715,
= 4, Option ID :- 716,

Answer Given:- 2, Option ID : -714

Response Sheet

Fr=afafaa = foem w10

e /T faefm afs
(a) Terzw (i) hice=m
(b) SAfeert &R dasr (i) faerfm@- D
(c) HE (M) (i) AR

(d) ST (iv) SAEEH
(1) (a)-(), (b)-(i1), (¢)-(iid), (d)-(iv)

(2)  (a)-(), (b)-(1), ()-(iv), (d)-(iii)

(3)  (a)-(v), (b)-(iid), (c)-(ii), (d)-@)

(4)  (a)-(iii), (b)~(ii), (c)-(v), (d)-(i)
Options:-

Question ID:- 180

(A) Dolphines do not have gills
(B)
their heads.
(©)
(1) Only (A)
(2) (A)and (B)
(3) (A)and (O
(4) (A), (B) and (C)

Choose the correct option from the given statements :
Whales breathe through the nostrils or blowholes located on the upper parts of

Squids usually have streamlined shape of body.
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Frafafed w4 9 98l fosked =1 =99 L
(A) effew § firer =& 2

(B) @l fax o fied AMEgR 9 vad @i © |

(1) e (A)

(2) (A) 3R (B)
(3) (A) ¥R (Q)
(4 (A), (B) ¥R (O)
Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718

(C) Toas =1 IR STHGR R oW & 26 &)

Response Sheet




